ZSBHR:

(1) FRMu F54F A LT UL,

(2) FHRIHAETZ T L EMBIRA R B ER G E L,
(3) FRI/A TN DKL &,

(4) FHRIBAJHE JHIF4AGRE AR .,

16 CHEE T REMEHAER 2. MR CilE XA T HALR Y 5T iE 5 0 E 24
PEZ — AR AT RUAT RO 2 on FDT IR 52 2% (9 BOHE 45 4 Bl 25 0 BE N A7 o B4 PN A7 st ik 3k
Fr8Af AR SR B AT ROCR . i TR B RO MR FL B A2 2% e 52 402 T HL 48 #1019 1R ik
SR EER CEERG G, PG, 2 > B 27 BT 48 B 00 A BT FIRE A A TR
Mo A A8 B A AT RLAI T E S Y ] 5038 G L e AR R T

5.1 s EHTEEHNME

5.1.1 Mk 548%F

TR BN AE 9 2 A Al ST 2 A 7 B9 3 7 1 S . 515 (byte) 2 e/ B A7 ik
B FETFEHL BT A RO AR A TR AR AR R B . O T RERB IE R U IR N AE T, )
AR AT 2 1 9 AR A0 2 il mT DDA A R B B RGN AF RROG . AAE LG G ik e
Motk 38 H AT MR AR N R £ . A SOT R MUk R BE N AF BT RS N AR TS A
I7 (4 MR 22 A ) BRATT U5 R RO AN 2 — DS — . X — S A B ITR U B0 1Y M
HE BN HE B PR O B R Z OCI N A . C Ol S P SRV — A A R AT R M hE
CFRED) X AR S FR O FiR BH AR Bk o DRI — 48 72 Bk 0 (Bl 2 A N A B 0T A S ik L S
NHENAFRITHI R B

FERR YL, — AR R — A kR — A R T — 4R B AR T DL T A R Y
FREHE Gtk AR 5. (HE IR R B RO “ 8517, O T RERIRIA , L E R AR
BHUHE W B R AR B R IR IUE D bk R B E AR AR B F RO T A
B AR VTR AT B0 . DT AR AT N A7 50 BLAF R K dls
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5.1.2 fREER

1 C il — PR 28 B sl OB 25 A PR AR AR o A — 4B Ze i A7 o, T ik
AR A& I AN BEAR L i 418 3k — ol 5040 288 Y b 0 0 4 4 o S0 T o DA i PR O S i 3
TEMR T 8 B 7 AR SE PR Bt e — A Mk (R 8 w7 — S EUE S5 A B AN URT AR
I Y B ik A VAR T LA BB B e X b KA 45 F O A ik s 1], DR TR S S A T AE L ROR
MR, XA R TIAR S A — D E RN AN, B2l e BORR 2 i S AT Y
UNRAE — A48 B8 B P A OB B — 1> pR BB 1 ik DU e S 1 B R (L RE 8 4R
FIZ KO R B T 3 i S KA A T ik S 4 R 5 A A M

CPU 5[] N A7 5 22 A9 2 bk 17 A S22 2% M ek B 4% o 74 5k 44 0 R B4 2 M ik
4 — ol B AC AT, 24 PR SO G 13 A I AT AT AR P U AT S R b . 4R
IS o A ) — IO R AT 55 AL 0 B B 46 47 Bk BT S LAY Mk o A A4 A W 2 — A
IO B0 Lk T PP 1 4 396 U 2 U 7 ) 9 2 4% e 4 g A £, CPU 5 1) A A I 5
FRY R B R I R A IR ST N AR Y I R AR R R A S AT
PR T 7 (5 R FATTHE S 5 AR A aek AR b, AT DA T B T ) R R B Y S A R LR
LT X AR M B AR B A R T A B A SRR R
Je— R EATHR I Mk B B AT TR 2 S AU B R b, FRATIA A B A RO Y R A
P A B T BRKCA0 AR 44 27 1 2 AURS B s R dh B o ki o JCERR: IR O 8 44 4 1
82— B AR RO S T A4 A A 23 () U hE , T pRECRS AT S 44 R 44 L AR T R — BRI A
Hh T 5 1Y R A 26 TR S T B A — A R Sk

52 BT =E

5.2.1 fREHEEE X

fREH AR R E R R TEM T Z AL A L, U LB AR 1% & 2
TR AT SR A By A hE T ELE AR S AT RLAR ] 4 4 28 BRI i 46 41 A8 i

KRULHIFF > IR EA;
Horbr, o« RORE SO — DR B S B R AL UL DI AFAR HIZ68 B2 B BB O 95 1) T 4 S8 B Y 4K
P BZ AR B A8 5 7] DU T A 2 8 AVEUE i b bk . o8 SCHR BFAR 2 I, R BUAR IR AT — ELAf
SEANBE UL QSR SCT — A [ B AL AR B (4 BH S B IR 4 B A BE-REAS ) 2 ALY
T, WU, — TR R H RS ) A — R R A A

o1l 4

int * pl; /% GEX—AREMB G W BAR B AR AT AR R+ /
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float * p2; /% L—A-BRHEHE 7] HAE AR AR AR+ /

char * p3; /% X —ABRUSHE 0 FAF AR E AR AR+ /

int * RARNBERIFEE 2RI, char » RoARFRAHEE K, BB « ANRgsrIF, 2k
S FENMINGE R s R R FT AL,

F& BT LLSE SCHE 1] 45 i B4 218 B sl 25 1) 1) 48 #1748 b A 1 SR AR B4 S A 404 | R A
L H BB A DR M 48 5 28R OO — MR AR 8D

D & Hbhtis 8457

il 4n .

int a;

int * p=ga; /% B X =R AR R RV A FR A AR i, R AR i o %/

2) * . WNFBAF

PHBAEA KGN AL 2L R RIE S & Frds m 22 s I E (N .

il an .

int a=3;

int * p;

p=s&a; /o BERIIRET ARG p 4R M BB o x /
printf("sd,$d", a, *p); /* *p RAPIE p FriEAERME * /

* p=5; /% AG IR E AR p 1R 19 I AE A SR OC N B IRAE A 5, Bl a=5 * /

(6 5-1 A2 45 1 9 T 2 F 70 A s o DR300 1) WL i 14
ARSI

/* e5 l.c */
#include<stdio.h>
void main () {

int * pl, * p2, ¥ p,a,b;

scanf ("%$d, sd", &a, &b) ;

pl=&a;p2=sb; /* pl¥gIal a,p2 85 b * /

if (a<b) {
p=pl;
pl=p2; /* B FEEI AR & p, 28k pl Bl p2 (TR W * /
p2=p;

}

printf("a=%d,b=%d\n", a,b);

printf("max=%d, min=%d\n", * pl, * p2); /* it x pl Bl p2 MIMH * /
}

BT aER. A5

a=5,b=9

max=9,min=5
AT BB A A 5.1 FR .

= 2 e 4o
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&a 5 &b 5

p2 b p2 b

&b 9 &a 9
(a) AZHRHT (b) ZHef5

P51 il 5-1 32 Hemi s 4% Bl

FEIF 3L .

(1) a Al b IR, BT AR FFAAE S pl Al p2 BMHECAE T . * pl Ml % p2 J&
BUE AR £ pl M p2 FT48 0] 19 N A7 25 [R) BL A 1

(2) WMEAFE] a 1 b BYAF 6% 5 o0 bk, T 5 4] “printf ("% # 0X, % # 0X", &.a,
&b) s Hi L,

il 5-1 25 B SRS

#include <stdio.h>
void main () {
int * pl, * p2,t,a,b;
scanf ("%d, %d", &a, &b) ;
pl=¢&a;p2=¢&b;
if (a<b) {
t=*pl;
* pl= % p2; /% SEL I AR AR G £, 354+ pl Fl ¢ p2 INME * /
* p2=t;
}
printf("a=%d,b=%d\n",a,b); /* Hitlh a fl b @yfE * /
printf("max=%d,min=%d\n", * pl, * p2); /% Kith % pl Fl x p2 MI{H * /
}

BT8R (A 5.9

a=9,b=5

max=9,min=5

P73 .

BRSO RE Ll if AL AR pl 8 alb FRRRE B A 5 R 9, pl BRAE 1A a,
WU B A ) b T a b (B AR B U B RR T L B AL i A B pl R 1 A EROT CH a) 11
BAEK anfi A 5 F109, 0 pl 5 [ A PAICAE A 9. p2 F8 M A PAIC(E R 5.pl . p2 MYFE M A
AR A PSS AE G 1B AR T (gl & 3l o 45 B AR B plop2 FFAT T A a b [,

AN FVF A — BB T 45 B AR 5 T T 0 A R A R Y

int * p;

p=2000; /xR BRI BOR T AR A i p, BBAITES * /
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A RLAESE SC— A8 B i A Rl BEAT W0 kR A . A

int a=25;
int * p=sa; /* IEMfi, & XML E p (WIFEIE, ¥ a MHLHER S, o, B p fe A8 2 * /

ANHRES BT A A
int a=25, * p;
* p=&a; /% GV, AIGRE, AR L, SRRV — B, WBUN p=sa; x /
R EEWAE Y 48 B 28 = AN RE A HT 75 JUDRF 18 R 1B B i L 45 R G0 B W s AT SR B .
T T A AR AR Y

int * p;
x p=5;

TG F A R p 7 5 UG 48 1 9 7 R B0 5 o TR AL 0 R i B £
5.2.2 Z%iRE

A — A48 B PR RS i 0 M, 2 B 5 SR — 4
TP S AR AS T WU A T R S R AL, RS 1 kO o 6
LA 0 BT 22 9 (L SC I AR P AR A T . R %
R PR AL AR S A2 . o % i\ g

R 605 51 9 3 1BV HS 10 9 6125 Bk B 51
2B G B o 36 4 S B . T p
SUHE I 55— A OB B 02 B LR B I W so g el s
H 51 RS 5 B 5.2 R

5 S — B A

KRBT s AE i 4

i .

&p &i 3

int **qg;

T — R q, BAR 0 — DA AR R R q AT * KO8 q B —
MR R K q B — DR AF T A KRB IR T AR Wy R — D REME AL Cint x )2
TUAY T Cint )RR ROUSR 4120, Ik, q J& — A BE 8 48 ) % L 95 51 72 & 19 95 41

=N
AR,

I T = B AA RS WMo q YT x (x @) WA 5.2 Fi7R.q & —
AN R R RS BT AR p MR AR ¢ q EHRE T paoxexq WA T 0L

(%] 5-21 ZHARE R,

PP AR AT

/% e5 2.c *x/

¥ 5&F J5%t
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#include<stdio.h>
void main() {
int **pl, * p2,n;
n=3;
pl=&p2;
p2=¢&n;
printf("%d, %d,%d\n", n, * p2,**pl);
*p2=>5;
printf("$d, %d,$d\n", n, * p2,**pl);
**pl=7T7;
printf("$d, %d,$d\n", n, * p2,**pl);
}

P PP Is 1745

3,3,3
5,5,5
7,7,

FEFF UL
p2 R AR & n,pl BIEMAGE AR p2, L * p2 HJE pl.fi**pl L& n,

5.2.3 481 void FLRU %S

AL RAAE L F8 AR B PR 8 8 38 ) 9 — A 28 AL EE . void Y T A R T2
HL” void » W R TG BIFE 4" void * AT LS 1A 4T 4] 25 70 1) $ 4

A 528 & pl F1 p2, WERTEET pl F1 p2 WYZEBUAR TR, IE 4 7] DL E 42 7E pl A p2
(] ELARGAE s W28 p1 1 p2 i ) AN [ B4 K000 248 280 D)0 250 ff Y i i) 248 750 2 i R4 0 A
AT R HR B R RV o A s s A RS, fildn .

float * pl;

int * p2;
pl=p2; /* HPE A, RUK pl= (float *)p2; % /

TCIE AR B A A, A Ao 26 20 (9 Fi8 B A0 AT LA B WK (B 45 & T 20 AT O ) 2 L A
e, .

void * pl;
int * p2;
pl=p2; / * 1EWf % /

X I AR E 2 void » AT RLIJC /0T 8 ] 26 B % 4 i T 45 LAl S B A9 45 £, TR
“TCZE BT LA AL AR A R A I R RE L AR TC R A, TR IR T D R A 1R

void * pl;
int * p2;

CIEFTRFIRITRE(E 2 M)



p2=pl;

p2=(int *)pl;

53 EHEEEIRBSH

PRECS AT LI B SR | A B AR R AR R SR L o ] DU AR AT 260, il 4 B
AR AT PRR S H, S BR L 1) R RO B8 A A sk o AT UK B R e KO S A b ik
e 125 3] PR30 P G 8 7 bR K P TR T LR A o RS R B R L 9 LK L R A 2 B A PRI
8 P25 SR TR B 58 . ARBCL L FA R Bl S 2 BE B A SR — RSB B B B
Ipikid ot — A SRR AL A SR . HRE AL B B NTT R4 BT 75 R B PN 0 1 4 £ R R
RV E /TR

K6 5-31 KA B et el 20/ BT i b o 9 A2 A D s S RO Bl

AR

/* e5 3.c *x/

#include<stdio.h>

void swap (int * pl,int * p2){

int * p;

p=pl; gl L g a g v

oo [ BALFEE R p ZZHIL S pl Al p2 IWEE ] * /
pl=p2;

p2=p;

}

void main() {
int a, b;
int * pointerl, * pointer2;
printf("input a,b: ");
scanf ("%$d, $d", &a, &b) ;
pointerl=¢ga;
pointer2=¢&b;
if (a<b)

swap (pointerl, pointer?2);

printf("%$d, %$d\n",a,b);
}

7]‘%]?;@??2%% pointerl a
input a,b: 5,9 &a 5
29 pointer2 b
TEFF DM . TR AR FE R 1Y bR oK Al S0 &b ,

G S \ , 4 5 £t 5
(D BIF B0 K a 1 b By H bk 4 90 6 25 +8 4 2 & W 55 T AT T

£ o5& J55t 127



pointer] F1 pointer2,{fi pointerl $§17] a,pointer2 #8[a] b, W&l 5.3 Fi/R,

(2) MF a<<b. LT swapO . S I P45 BH AL I AE E X swap O RHE S
R FRE AR B pl A1 p2, HH THNE 2. KAETHG s pointerl B{EL 45 pl, pointer2 Y
{HA% % p2, BLAS pl I pointerl #BFE 0] AF & a.p2 Fl pointer2 #H#5 m ZZ& b, WA 5.4
I

pl p2

&b

5 9
pointer] / pointer2 /
&a &b

Bl 5.4 T REOR TS B L

(3) AT swap O F i, 8 i 15 £ A & p fF pl A1 p2 BO(E E e (RI$S ) B ) .
Wf,p2 810285 a, pl $5 1072 & b, WK 5.5 From,

p2 pl

&a &b

5 9
pointerl / pointer2 /
&a &b

5.5 AT swapO I B 484 K LAk

(1) swapO T LR T . pl Fl p2 REAFFECREHBO . AT LUE R F s f7 o #
XA swap O MIIES pl Hl p2 WIE (A4 T 48 1), 1 552 pointerl ,pointer2 A48 1] )
JIFHE X 42 Ca o) B A 4R 21 A 2R TR R RESEBRRE IF H AR

AR 2 fey A G SE IR P HARWE? AT LAA R A Se B,

#include<stdio.h>

void swap(int * pl,int * p2) {

int p;

p=*pl;

* pl= % p2; /* WA R p XML S pl M p2 Frif A mE « /
* p2=p;

}

void main () {
int a, b;
int * pointerl, * pointer?2;
printf("input a,b: ");

scanf ("%d, %$d", &a, &b) ;

128 caEiFRIT&R(E 25



pointerl=¢&a;pointer2=¢&b;
if (a<b)
swap (pointerl, pointer?2);
printf("%$d, $d\n",a,b);
}

FEFFIs T4 2R

input a,b: 5,9
9,5

P UL R AR BT B ARSI,

T a<<b, LA swapO . AT swap O3 FE o Ll i B AV AR 5 p ff pl Al p2 JiT g
AEREES ., 5 pl Ml p2 #E R EHAR . * pl Al * p2 TEEW LS pl M p2 35 [0 BI17-iF
BOTEMEAT T H B B0 a=9.b=5,pl F1 p2 (35 i I B4 A8 8 2 pl 81 a.p2 1517
b, il 5.6 iR,

pl p2

&a &b

9 5
pointer] / pointer2 /
&a &b

Kl 5.6 5 5-3 A2 He T A5 5L

[ 5-4) — A ARBEZE, HE BB 2 T 23 e o 475 o 2850, W R oy 4
X2, AN 13 F1 31 FBIRZEE BT LL 13 F 31 st 24Xt 280, iR B 07 46 %) %%,
BT .

/% e5 4.c x/
#include<stdio.h>
void main() {

int m,ml, flagl, flag2;

void prime(int n,int * f); /% PRERA B * /
for(m=10;m<100;m++) {
ml= (m%10) * 10+m/10; /% ml R m BCEN BRSO </
prime (m, sflagl); /x FIKE m R E AR« /
prime (ml, &8flag2) ; /* FIW ml RTmREL +/
if(flaglssaflag?2) /x A m M ml [EHER AL </

printf("%5d", m);

}
void prime (int n,int * £f) {

int k;

¥ 5&F J5%t
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* £=1; /o o ox £ WURMIRIE N 1 %/
for(k=2;k<=n/2;k++)
if(!(n%k)) * £f=0; /o W 0 RIEFEHWE x £ R0 */
}

BIFIB TR

11 13 17 31 37 71 73 79 97

FLF UL

(1) WL primeO) T HIBE n 750 F80 45 * { RURHUI 1 W% n REHC * 1
BRI 0 %7 n R REH.

(2) & {5 M52 flagl F flag2, 7E 9% PR REL prime O W ek AR U7 45 4% 1 A9 (R, R
AR F R EP flagl A1 flag2 BY1E.

5.4 1ESTEEE R s

5.4.1 fREFREL

7 ) BRI A 43 3 S eR R R 4 R BGR HE Y 2T, AE C IR P i —
’ﬁ&ﬂ@i&lﬁ%—/\%’ﬁ(ﬁﬂi&ﬂt) XM [ 45 BHELA pRECRR O 16 B R B, S8BT R 1
— > BR R A B U I R RO AR I {E SR L B — 3R eI D 45 A RR R

— B E B
KRR « s JES %)
PR A

}
Fop UYL AT x 7 R RO [{E A SR AR B AR — R R

PR A IR [ {6 200 [) 288 Y 4 415 2 o o e . W AR UL, 4R B eR VB — S AT oK KGR [l
{EL 2% [ — > s 41k 0 32 81 e 5, DRI £ 32 98 e 850 e 30 [0 o 200 45 ] 28 7R ) 4
-

a

HEZ[

(15'] 5-51 FREFRRECRE] .

/% e5 5.c %/

#include<stdio.h>

int * add(int a, int b, int * pc) { JRE AR KB >/
* pc=atb;
return pc;

}

int main() {
int a, b;

a=1;
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